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This model is made with 20 cubes. 29 | 15% x 440 = !m!
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2019 Organiser Out Now... All-New Arithmetic Ninjas, Paired Domino - .
Activities, Self-Marking Papers, One Page Wonders and new Tutorial = i}
e

videos for last Summer’s SATs. Try it free press here!



https://www.youtube.com/watch?v=d0ZnRzNc8fc
https://www.youtube.com/watch?v=AaQOYlafrnM
https://www.youtube.com/watch?v=6b6j2vnHJBI
https://www.tes.com/teaching-resource/2019-ks2-sats-revision-ultimate-15-in-1-maths-organiser-11989842
https://www.youtube.com/watch?v=TrX86wz_BuU
https://drive.google.com/open?id=1DQSgTL_ByD_-Lo1AR-d41QPzAGHkzbAZ
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20% of Megan’s number is 64 If you know 40% of a number, explain how you could work out the
original number.

What is 50% of Megan’s number?

Show
your
working
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} &E Write these in order of size, starting with the smallest.

Emily makes 250 grams of a snack mixture.

15% of the weight is raisins, 25% is banana chips and

the rest is peanuts.

How many grams of peanuts does she use?
smallest

Show
your working.
You may get
a mark.
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E% Calculate 15% of 460 %RE Calculate 5% of £3600
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https://www.youtube.com/watch?v=s0znSqjECJ8&index=2&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl
https://www.youtube.com/watch?v=_Jme1xovcc4
https://www.youtube.com/watch?v=YiOSq4XCpk0&list=PLS3PH82bo0VBdGoHWY0PRNLHEZaRU1Yqy
https://www.youtube.com/watch?v=MjNYGKBuuXo&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw&index=2
https://www.youtube.com/watch?v=jq2Ej_dG0TM&index=1&list=PLS3PH82bo0VDe9klJ5sY2Mfw12WyBmgEw
https://www.youtube.com/watch?v=C30KIXn7Mbk&index=5&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ

This chart shows the amount of money spent in a toy
shop in three months.
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How much more money was spent in the shop in
December than in November?

N

Stepan says,

‘In November there was a 100% increase
on the money spent in October’,

Is he correct? \
Circle Yes or No.

Yes / No

Explain how you can tell from the chart.


https://www.youtube.com/watch?v=He2odjoQimk&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=4

